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NETKE BE BTN TARE(NETEY) |#mESRE  [fTmbtE 50 36[=t RAFN55F E 322,718,000 232,356,960 90,361,040
NETKE BE BTN TAKE(NETEY) |#HEERE 1TEREAE 50 35| BEFI564F B 716,375,000 501,462,500 214,912,500
NETKE BE BTN TARE(NEXTEY) |#mESRE  [fTmbtE 50 34( = RAFNS7TEE 400,128,000 272,087,040 128,040,960
NETKE BE BTN TAKE(RETEY) |BHEREE 1TEELE 50 33| BEFI584E B 327,216,000 215,962,560 111,253,440
NETKE BE BTN TARE(RNETEY) |[#mESRE  [TmbtE 50 32| = RAFN59FEE 625,569,000 400,364,160 225,204,840
NETKE ZDHh BTN TAKE(RETEY) |BHEREE 1TEELE 20 32| BEFI594F BE 9,528,000 9,527,999 1
NETKE BE BTN TARE(NETEY) |#mESRE  [fTmbtE 50 31| = RAFN60FEE 315,870,000 195,839,400 120,030,600
NETKE ZDH BTN TAKERETEY) [BMERE |[TBEE 20 31| BEFI604E BE 18,887,000 18,886,999 1
NETKE BE BTN TARE(NETEY) |[#mESRE  [fTmbtE 50 30| = RAFN61EE 306,361,000 183,816,600 122,544,400
NETKE ZDHh BTN TAKE(RNETEY) |BHERE 1TEELE 20 30| BEF1614EEE 25,482,000 25,481,999 1
NETKE BE BTN TARE(NETEY) |[#mESRE  [fTmbtE 50 29| = RAFN62FEE 228,877,000 132,748,660 96,128,340
NETKE BE BTN TAKE(RETEY) |BHERE 1TEELE 50 28| BEFI634E B 42,051,000 23,548,560 18,502,440
NETKE BE BTN TARE(RNETEY) |#mESRE  [fTmbtE 50 27| = ERTEE 87,802,000 47,413,080 40,388,920
NETKE BE BTN TAKERETEY) [BHERE |[TBEE 50 26| =t TR2EE 92,895,000 48,305,400 44,589,600
NETKE BE BTN TARE(NETEY) |#mESRE  [fTmbtE 50 25( = FERIEE 62,653,000 31,326,500 31,326,500
NHETKE BE BT A TKE(NHETEY) |[BiEEE TERBAE 50 24| ERRAEE 89,403,000 42,913,440 46,489,560
NHTKE BE BTN TARE(NETEY) [BMMERE [TEREME 50 23| THR5EE 166,739,000 76,699,940 90,039,060
NHTKE EE BTN TKE(NHETEY) |[#hEEE TERBAE 50 22| ERE6EE 262,442,000 115,474,480 146,967,520
NHTKE EE BTN TARE(NETEY) |[#mESRE  [TmitE 50 21| = ERTEE 279,494,000 117,387,480 162,106,520
NHTKE EE BTN TKE(NHETEY) |[#hEEE TERBAE 50 20| ERESEE 299,980,000 119,992,000 179,988,000
NHTKE BE BTN TKE(AHTEY) |BHEHERE |[fTHRME 50 19| = TRIEE 282,921,000 107,509,980 175,411,020
NHTKE EE BTN TKE(NHETEY) |[BiEEE 1TERBAE 50 18| = ERLI0FE 227,870,000 82,033,200 145,836,800
NHTKE EE BTN TARE(NETEY) |[#mESRE  [TmitE 50 17| ERITEE 85,082,000 28,927,880 56,154,120
NHTKE EE BTN TKE(NHETEY) |[#hEEE TERBAE 50 16[= ERL124FE 95,588,000 30,588,160 64,999,840
NHTKE BE BTN TKE(ANHTEY) |BmEHERE |[fTHRME 50 15| = TR13ERE 40,243,000 12,072,900 28,170,100
NHTKE EE BTN TKE(NHTEY) |[BhEEE TERBAE 50 14| = ERLI4FE 147,761,000 41,373,080 106,387,920
NHTKE BE BTN TAKE(RETEY) [BMHERE [TEEE 50 13| TRIGERE 73,512,000 19,113,120 54,398,880
NHTKE EE BTN TAE(RETEY) |BHhERE 1TERBAEE 50 12|z TR164EEE 63,167,000 15,160,080 48,006,920
NHTKE BE BTN TAKE(RETEY) [BMHERE [TEEE 50 1= TRITERE 29,034,000 6,387,480 22,646,520
NHTKE EE BTN TAE(RETEY) |BHhERE 1TERBA 50 10|zt 184 45,258,000 9,051,600 36,206,400
NHTKE BE BTN TAKERETEY) [BMHERE [TBEE 50 9|= TR19ERE 41,002,000 7,380,360 33,621,640
NHTKE EE BTN TAKE(RETEY) [HmESRRE [TRME 50 8|zt TR 204 60,438,000 9,670,080 50,767,920
NETKE BE BTN TAKERETEY) [BMHERE [TBEE 50 7|= TR ERE 60,473,000 8,466,220 52,006,780
NHTKE EE BTN TAE(RETEY) |BHhERE 1TERBA 50 6|zt T2 55,599,000 6,671,880 48,927,120
NHTKE BE BTN TAKE(RETEY) [BMHERE [TBEE 50 5|z T35 38,277,000 3,827,700 34,449,300
NHTKE ZDih BTN TAE(RETEY) |BHhERE 1TERBA 20 5|zt T34 17,567,000 4,391,750 13,175,250
NHTKE BE BTN TAKE(RETEY) [BMHERE [TEEE 50 4= TR245EFE 25,490,000 2,039,200 23,450,800
NHTKE ZDih BTN TAKE(RNETEY) [HmESRRE [TREME 20 4=t T4 19,935,000 3,987,000 15,948,000
NHTKE BE BTN TAKERETEY) |[BMERE |[TBREE 50 3| T 25 B 43,961,000 2,637,660 41,323,340
NETKE ZDH BTN TARE(NETEY) |#mESRE  [fTEbtE 20 3| FER25FEE 10,658,000 1,598,700 9,059,300
NETKE ZDH BTN TAKERETEY) |[BHERE |[TBEE 20 2| TR264FE 3,472,000 347,200 3,124,800
NETKE Z0H BTN TARE(NETEY) |#mESRE  [fTmbtE 20 1|= ER2TEE 3,735,000 186,750 3,548,250
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